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BINOMIAL THEOREM
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OBSERVATIONS

* The total number of terms in the binomial expansion of (a + b)" isn + 1, i.e. one

more than the exponent n.
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OBSERVATIONS

* Inthe expansion, the first term is raised to the power of the binomial and in each

==

subsequent terms the power of a reduces by one with simultaneous increase in
the power of b by one, till power of b becomes equal to the power of binomial,
i.e., the power of a is n in the first term, (n — 1) in the second term and so on

ending with zero in the last term.

At the same time power of b is 0 in the first term, 1 in the second term and 2 in the

third term and so on, ending with n in the last term.
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OBSERVATIONS

* In any term the sum of the indices (exponents) of ‘a’ and ‘b’ is equal to n (i.e.,

the power of the binomial).



NDA 1 2025 — LIVE CLASS — MATHS — PART 1

OBSERVATIONS

* The binomial coefficients in the binomial expansion equidistant from the beginning

and the end are equal.
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PASCAL’s TRIANGLE

* The coefficients in the expansion follow a certain pattern known as pascal’s
triangle.

* Each coefficient of any row is obtained by adding two coefficients in the preceding
row, one on the immediate left and the other on the immediate right and each row

(Ml;)o !

is bounded by 1 on both sides.
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PASCAL’s TRIANGLE
* The coefficients in the expansion follow a certain pattern known as pascal’s
triangle.
Index of Binomial Coefficient of various terms
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GREATEST BINOMIAL COEFFICIENTS

In a binomial expansion, binomial coefficients of the middle
terms are greatest binomial coefficients.

(i) Ifniseven: "C, ,takes maximum value.

(i) Ifnisodd: Both ”C_H;l- and ”Cﬂ take maximum

2 2
value.
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GENERAL TERM
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QUESTION
Find the ™ term in the expansion of (x +i
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MIDDLE TERM
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QUESTION
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Find the middle term (terms) in the expansion of [f + ;J :
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INDEPENDENT TERM

7”/ = hCr LY [fenw&/ 7‘e‘rm)

QndOfcnolwf Term > mo veviohle ;nvafvd

(Wf fure huml)w)




NDA 1 2025 — LIVE CLASS — MATHS — PART 1

QUESTION
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Find the term independent of x in the expansion of [\/_ + []
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SOME PARTICULAR CASES
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QUESTION

Evaluate: (f —-‘/1 —x* )4 + (f +1—x7 )4
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pt" TERM FROM THE END

The p™ term from the end in the expansion of (a + b)" is (n — p + 2)" term from the
beginning.
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QUESTION
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Find the 4" term from the end in the expansion of (? — %]
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BINOMIAL COEFFICIENTS
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QUESTION

In the expansion of (1+ x)? (14 x)9, if the
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coefficient of x2 is 35, then what is the
value of (p+q)?
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QUESTION

What is the remainder when 7" -6n is

divided by 36 for n=1007? ____
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